1.

xe] RE 3ol dhato] obg S40] 4YT W 44 a b, 9 T
ghe Fafolet

Prl=((x-1)(x-2)(x=3)+a(x-1)(x=2)+b(x-1)+c

5 J=X
=%



2.

o=t

9

bl 7

S

FARL L o8

oju
A,



FAL M, (- 2)(x* +1)f(x) = x° +axt + b7} x
12 o, 24 - b©] 3 FoHH?



® x+1

x2F B = x? + bx + a2l M

12 (2, a, b Aol

@ x+2 ® x+3

T
[6)
o



5. A t}akA = = =
e (x) =x>4x- + + +
o) o2t 2, g(x) =2x% +3x-2
f o , h(x) = x* +mx
Z ]:H_x_' z ,m [e) %1—_2 q_——a"_o:]g} °

o . m=



6.

21744
g

@ o

f
)

(x) 2} o] 2k4] g(x) 2] HthFoF

°
f( 8(x =x*-xX24ax+b¥ ELH’ab_g] z7re9

@5 ® 10

=x+10
@ 15

]

K

’









® 2002

@ i



A a=p°"H a+pae8 = L5 Aol
O©a=pLdm, eB=0°Ha=0c°th
© *+p>=0°"Ha=0,=0-0°lt}

ONQ) ® 0.0 ® ©.0
@® 9.0 ® 0.0.0



11, e 87] % 82 A9 A4E? (%= v71)

@ 169 AF2L 40t
© 442 ABA P45 B oolh,

© E4&F z=a+bi(a, b= A5 A
Agolth, (&, 7+ 9] AellE4a)

® HAF z=a+bi(a, b= A5) ol st z
Agolth, (&, 7+ 9] AellEagolt)

L A%olth (7 79 AelBadoltt)

@ BAFz=a+bi(a, b= AF)ol ol z =z0|H ¢

@ 374 @ 474

® 571




olJ
T
olJ
o8

dlig
Nfo
,mo

oln

Tod

Bk ok 0] AeEad o o)

12.



Aix*+ (1+i)x+1=09 sfE stz (&, x #i)



14.

=

oo
ofL
o

>,
o
e
ra

O

(2-V3)x2+(1-V3)x-1=0

O x=-1%=-43 @ x=-1%=-2+13
® x=-1FE=21 13 @ x=1F=2-+3

®x=1F==2+13




(V3-1)x> = (V3+1)x+2=0

@ x=-1E=x=-V3-1

2
I

)
H

DO x=-1

V3+1

Q@ x=-1E=x



16. ©1AAA 322 - 2x 20— 1 = 0°] A2L 7Hd A5 a9 WS

Fotofet.

D
=%



17.

xoll Tk ol AA 2 = k(x - 2) + a7t A4 k9] Gl BAYo]
A AT 2] §I5 A% 0] gto) WIS Fahe?

® a<4



18.

x ol thgt & o] zptg 4]

X -2vVbx+(2a+1)=0 @

¥ =2ax—b=0---©7} At} @°] A2 2
o] & WHoHA? (& a,b = A5, b>0

@ ® © ©® 6
o)
g Hu
Ko
ru

i)
&
=
10
_9_l'4
rd
o
N
N
)
&

)

Al
=

=7 M, ©



A ax? 4+ bx + ¢ = 0(H, ac # 0) o] &+

ki

a,BE °|=}

19.

® a?x? + (b? - dac)x +c* =0

@ a*x®> - (b? —2ac)x—c* =0

® 2x? + (b® —dac)x+ada®> =0

@ 2x? - (b* -2ac)x+a*> =0

® 2x? + (b? - 2ac)x+a®> =0



DO x2-2x-4=
@ xX2-x-4=0

® x*-2x-1=0



21.

[*]

gt} o

® 7

A A f(2x+1) =29 & &&

m,

TS B olHa+B=471A4H

vr @9 ® 10 ® 11



